
Question #80163, Physics / Other 

Two events happen simultaneously in the frame S at a distance of 3.0 light years apart. In the frame S', which is 

moving with a speed v relative to S, the distance between these events is 3.5 light years. Calculate (i) v and (ii) 

the time interval between these events in the frame S'. 

Solution 

(i) 𝑙 = 3.0 𝑙𝑖𝑔ℎ𝑡 𝑦𝑒𝑎𝑟𝑠   

𝑙0 = 3.5 𝑙𝑖𝑔ℎ𝑡 𝑦𝑒𝑎𝑟𝑠   
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=  0.515𝑐. 

(ii)  

𝑡′ =
3.5

0.515
= 6.8 𝑦𝑒𝑎𝑟𝑠. 

Answer provided by https://www.AssignmentExpert.com 

https://www.assignmentexpert.com/

